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2.1.3 As a result of winds mentioned in QUESTION 2.1.2 a) above smog is likely to 

occur. 

a) Define smog.         (1x2) (2) 

Combination of smoke and fog. √ √          (concept) 

b) Explain TWO negative effects of smog on the people living in the valley.  

           (2x2) (4) 

May cause respiratory diseases. √ √    (accept examples) 

May cause accidents due to poor visibility on the road √ √   

May result to acid rain that will destroy crops √ √     (ANY TWO) 

2.2 

2.2.1 The warmest part of the valley in block E2/3 on the Orthophoto map is 

a/an ....       

A Frost pocket   

B Valley    

C Thermal belt   

D Slope         (1 x 1) (1)  

C  √   

 

 

2.2.2 The drainage pattern in block C5 on the topographic map is… 

A. Trellis. 

B. Dendritic.  

C. Radial.    

D. Rectangular.      (1 x 1) (1)  

B √   

2.2.3 Describe the underlying rock structure that is responsible for the drainage 

pattern mentioned in 2.2.2        (1 x2)(2) 

Massive igneous rock resistant to erosion √ √   

Horizontal sedimentary rock resistant to erosion √ √   (ANY ONE) 
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2.2.4 The river in block B5 on the topographic map is a/an… river.   (1x1) (1) 

A. Exotic 

B. Episodic  

C. Permanent 

D. Periodic.       

  

2.2.5 Refer to block B5 on the Topographic map. The area has a high surface run-

off rate and less infiltration. Discuss any TWO factors leading to the high surface 

run-off rate in the area.        (2x2) (4) 

Vegetation cover is less √ √   

Steep gradient √ √   

Porosity of rocks less √ √   

Permeability of rocks less √ √       (ANY TWO) 

2.2.6 Refer to the Lesseyton River in block D4 on the Topographic map: 

A) In which direction is the river flowing?    (1x1) (1) 

West √   

B) Does the river flow in a Turbulent or Laminar flow?  (1x1)  (1) 

Laminar flow √   

C) Give the evidence from the map to support your answer in B. (1x2) (2) 

Gradient is gentle √ √   

The contour lines are far apart √ √      ( ANY ONE) 

[24] 

3.1 GEOGRAPHICAL INFORMATION SYSTEM (GIS) 

3.1.1 Refer to block B1 and choose the correct answer from the brackets. 

a) The human-made polygon feature is (road; cultivated land) 

Cultivated land √                  (1) 

b) A natural line feature is (road; river) 

River √                    (1) 

 

D  √   
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c) The features mentioned in 3.1.1 a) and 3.1.1 b) represent (vector; raster) data. 

Vector Data √            (1) 

3.1.2 Refer to the orthophoto map provided: 

a) Does the map display high spatial resolution or low spatial resolution? 

High spatial resolution √        (1x1) (1) 

b) Give a reason for your answer in 3.1.2. a.     (1x1) (1) 

Images are clear and detailed  √   

Images are made of many small pixels  √      (ANY ONE) 

 

c) How would the high resolution map assist a tourist in navigating the area covered 

by the orthophoto map?       (1x2) (2) 

Tourist will be able to identify/find places quickly. √ √   

This will save travelling costs . √ √   

And reduce travelling time. √ √       ( ANY ONE) 

3.1.3 The coordinates for spot height 1438 in block C3 are: 31047’59”S; 26047’15”E. 

a) Is the information above an example of spatial or attribute data.  (1x1) (1) 

Spatial data √ √   

 

b) Give a reason for your answer in 3.1.3. a.    (2x1) (2) 

It gives a location of a place √ √    

It uses coordinates/ numbers √ √    

 

3.2  

3.2.1 Define buffering.       (2) 

Refers to the process of demarcating an area around a feature. √ √  

(concept) 

 

3.2.2 Rural areas have lower temperatures than urban areas. Give TWO 

reasons for the difference in temperatures evident in block B1 on the 

topographic map.        (2x2) (4) 

Rural areas have more vegetation cover √ √   

There is low building density √ √   

There are no geometric shapes of buildings √ √   

There are non-perennial rivers and waters that are a moderating  

effect√ √   
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There are no artificial surfaces √ √   

 

There are no efficient drainage systems √ √    (ANY TWO) 

[16] 

 

 

GRAND TOTAL: 60 
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